EP00028 /G

Material
No. Plan Article Number
1 YP02510 2802054 1
2 YP02511 2802154 1
3 YP02526 (L) 2802554 1
YP02990 (R) 2807354 1
4 YP02523 (R) 2802454 1
YP02992 (L) 2819554 1
5 YP08058 2605454 (L) 1
YP08059 2605554 (R) 1
6 Y003626 (R) 1476554 1
Y007869 (L) 1608954 1
7 Y009176 (R) 1641754 1
Y011973 (L) 1660154 1
8 Y009175 1641654 3
9 1ISO7380-M6x40 1006111 4
10 DIN125A-M6 1001564 16
11 DIN985-M6 1001680 4
12 M6x10 1003658 1
13 M10x19 1991432 1
14 M8x15 1006661 2
15 DIN912-M5x12 1001489 2
16 1ISO7380-M6x12 1007000 12
17 Linx DLX REM 050 1909020 1
Linx SE19 SE39 1912296 1
Linx SE39 1912301 1
18 X000699 1005861 2
19 XP00777 2991188 2
20 Cap 20x20 1001612 2
21 DIN934-M10 1001672 1
22 Cabel 1,5m 1912299 1
S Plan No.
ARMRESTS | SPRINGER KID
| G S EP00028/G
Scale: 1:5 Drafted Verified Confirmed
Date 22/03/2011 | 13/10/2020 13/10/2020 WY
Init. AS DB TK Q00




